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GENERAL INSTRUCTIONS: 

GENERAL INSTRUCTIONS 

1. All questions are compulsory. 

2. Question no. 1 to 4 are objective type questions. 

3. Question no. 5 to 8. They are very short answer type questions carrying 2 marks each. Answer to each 

question should not exceed 30 words. 

4. Question no. 9 and 10. They are short answer type questions carrying 4 marks each. Answer to each question 

should not exceed 80 words each. 

1. Where did the Industrial revolution begin? 1 

a) France b) Britain c) Portugal d) United States 

2. Ruling families of Mewar, in Rajasthan India, is an example of.. ........ .... authority. 1 

a) Bureaucratic b) charismatic. c) Traditional. d) Forceful 

3. The French revolution ( 1789-93) and the Soviet or Russian revolution of 1917 are 1 

examples of ...... .............. social change. 

a. Evolutionary b. Political evolutionary 

c. social evolutionary d. Revolutionary 

4. is known as the child ofrevolutions. 1 

a) Psychology b) Economics c) Philosophy d) Sociology 

5. Differentiate between revolutionary and evolutionary social change. 2 

6. Define Urban Agglomeration 2 



7. What is structural change? 

8. According to Karl Marx what are the four stages of progress of society? 

9. What are the different types of authority? 

10. Write a note on the Age of enlightenment. 

***END OF THE QUESTION PAPER*** 
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GENERAL INSTRUCTIONS: 

1. All questions are compulsory. 

2. Question no. 1 to 4 are objective type questions. 

3. Question no. 5 to 8. They are very short answer type questions carrying 2 marks each. Answer to each 

question should not exceed 30 words. 

4. Question no. 9 and I 0. They are short answer type questions carrying 4 marks each. Answer to each 
question should not exceed 80 words each. 

1. The authority of Government officials is an example of .............. authority. 

a) Rational b) Charismatic. c) Traditional. d) Official 

2. Das Capital is written by ...... . 

a) Emile Durkheim b) Max Weber c) Karl Marx d) Darwin 

1 

1 

3. Which thinker proposed a theory where living organisms evolve-or change slowly over 1 

several centuries or even millennia, by adapting themselves to natural circumstances? 

a) Spencer b) Darwin c) Einstein 

4. Which of the following revolutions is known as 'age ofreason'? 

a) Scientific revolution 

c) Industrial revolution 

b) French revolution 

d) Russian revolution 

5. Differentiate between a city and village. 

6. Define law? 

7. Discuss the process of urbanisation. 

d) Comte 
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8. Why is sociology considered as the child of revolutions? 

9. Describe the social change in Europe after the Industrial revolution. 

10. Elucidate the social order and social change in urban areas. 

End of the Question Paper 

***END OF THE QUESTION PAPER*** 
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